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QUESTION 1

Which of the following is NOT a feature of the IEEE 802.3ah EFM standard?
A. Discovery and auto-negotiation of OAM capabilities.

B. Link monitoring via event notifications.

C. Remote failure indication (RFI).

D. Remote Loopback E. Latency and jitter across a service.

Correct Answer: E

QUESTION 2

What scaling factors should a network engineer be aware of when designing VPLS networks? (Choose 3)
A. Control plane scaling.

B. Data plane scaling.

C. Network touches.

D. Route table reduction.

E. OAM tools.

Correct Answer. ABC

QUESTION 3

In RSTP, which state do all ports initialize in?
A. Designated

B. Discarding

C. Listening

D. Root

E. Forwarding

Correct Answer: B

QUESTION 4

To reduce the amount of flooding between PE devices which of the following steps should be taken?
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A. Configure the local age timer to be larger.
B. Configure the local age timer to be lower.
C. Configure the remote age timer to be larger.
D. Configure the remote age to be lower.

Correct Answer: C

QUESTION 5

Click on the exhibit below.
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Which bridge will become the root bridge?
A. Bridge B
B. Bridge C
C. Bridge D
D. Bridge E

Correct Answer: D
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